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PHILOSOPHY (General)

B.A. Part - I
Paper Code : II-B

Full Marks : 100 Time : Three Hours
The figures in the margin indicate full marks.

Answer eleven questions of 5 marks taking
not more than four from each group.

~Section - I

1. Answer any one from the following : 15x1=15
(a) Explain the Samkhya theory of evolution. 15

(b) Explain the nature of Vaisesika category of.
Samavaya . How does Samkara critcise it. '
10+5

(c¢) Distinguish between nirvikalpaka and savikalpaka
Pratyaksa. What is the evidence of admitting the
nirvikalpaka pratyaksa ? 10+5

2. Answer not more than fowr from the following :
| 5%x4=20

(a) Write a note on Samanya-Laksana pratyaksa.



t2)
My Axpnin e nawre of Prakriti.
@) Pxpiain the diferent forms of Abhava,

(@) What ® five-membered syllogism ? Explain with
oxampie.

(&) What is Purusa in Samkhya philosophy ? How
is the plurality of purusa proved ? 243

(f) Discuss Samkhya ‘Parinamvada’.

{2) Explain briefly the nature of the category of
Samanva as admitted by the Vaisesikas.

(h) How does the Samkhya refute asatkgxyavada ?
Section - II |
3. Answer any one of the following : 15x1=15

(a) Use truth table to determine the validity or
invalidity of the following arguments/argument
form : 5x3=15

® Us(VvW)
(V-W)o~U/[.~U
@ (pvg)=>(p-q)

(PVQ)/.'. p.-q



(3)

@) po(g>r)

qg/-.rop
(b) What are the different criteria for appraisal of
analogical argument ? Discuss. 15
(¢) Test the validity of the following arguments by
means of Venn diagram : . 5%3=15
(1) All-3
() EAO-4

(iiy As you are not a graduate, you are not
eligible for the post.

. Answer not more than four from the following :
5x4=20

(a) What is existential import ? Give an example.

(b) Distinguish between deductive and inductive
argument.

(c) What are the rules of obversion ?
(d) What is hypothetical syllogism ? Explain.

(¢) What is material implication ? Explain with
example.

(f) What are the different orders of ‘enthymeme’ in
syllogistic arguments ?



(4)
(2) What are the two senses of ‘or’ ?
(h) Explain the fallacy of illicit minor
Section - 111
5. Answer any one of thé following : 15x1=15

(a) State and explain the main features of Caste
system. 15

(b) What is Democracy ?. What are the
characteristics of democratic ideals.? ~ 3+12

(c) What is ‘trusteeship’ ? Explain its implication
after Gandhiji. 5+10

6. Answer not more than four questions from the
following : 5%4=20

(a) What is equality ? Explain.

(b) Write a noté on social class.

(c) How community differ from association ?
(d) Write a note on Moral Code.

(e) Explain and examine liberal democracy.

(f) Explain the relation bet;wecn liberty and law.

(2) “Society is the Web of social relationship” —
Explain briefly.

(h) What are the defects of socialism ?



(5)
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